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1. ������	��
�����
�
����������� 

���������	
�����
�����#���#��+	��	�����
���� �(����")� 1 � �(2	� �(�������� 1 

� � �&������&��.&����'#���'�.���#�������������#�

Yi = a + bX + ei

����� Yi = �	(��.���0��2�&� i ; a = �#��52&��.����	6���������#� X = 0 
���+0
� 
(�� Y
; b = � ���	���8�9����
�������	6��� 
�������6 �.�������
��� ; ei = �����2�
��2����.��

�0��2�&� i
� ���	���8�9����
��� (b) ����� ��#�6&*���8��2.��� �(������	��� �(����� �8�����
�

�#�� % �#� ����� X ��2&���(�2��� 1 
�#��(2�� Y +	��2&���(�2��� b 
�#�� 
����������+��������#������</�=�+����	6����
�� *�
�
������+���&�����"��� ���+/�

����</�=�� ��20#�� ���#���&�����������������'#��	6����
� 
 �� *�������
����&��.&����'#���'�.��

�#�������&�#�

Y' = a + bX + e
����� a = � ���	��"�#�.�� a ; b ���� ���	��"�#�.�� b ; (2	 e ���� ���	��"�#�.�� e

; (�#������+�� e = Y - Y' ����� Y = �	(���&�� �����
� (2	 Y' = �	(���&��
�+������������� 
 �� *�

Σ(Y - Y')2 +	�����&�#������&��0
 (least-squares solution) (2	 Σe = 0 
 �� *������+/��
2����&��

(�#�#� a (2	 b ��#�� *�

Y' = a + bX 

 ����� b =
2x

xy
Σ

Σ

a = Y - bX

����������	
������
� 
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2. ������	��
�����
�
�����	��

+	��	�����
���� �(����")� 1 � �(2	� �(��������� *�(�# 2 � �./*��� �������.&������

������
����
��#�

Y' = a + b1X1 + b2X2 + ... + bkXk

���
���&� �(�������� 2 � � �������.&��������
��#�

Y' = a + b1X1 + b2X2

�����"�#� b 
����'�� 

b1 =
2

21
2
2

2
1

2211
2
2

)xx()x)(x(
)yx)(xx()yx)(x(

Σ−ΣΣ

ΣΣ−ΣΣ

b2 =
2

21
2
2

2
1

1212
2
1

)xx()x)(x(
)yx)(xx()yx)(x(

Σ−ΣΣ

ΣΣ−ΣΣ

�����"�#� a 
����'�� 
a = Y + b1X1 + b2X2

3. ��������������	��

+	�
����#���#�� % .��������
���
 ��&*

3.1 �
���� ���	���8�9��������� (R2)

��������

H0 : ρ = 0

H1 : ρ ≠ 0

�����	
���

F =
)1kN/(R1(

k/R
)2

2

−−−
����� df = k (2	 (N-k-1) 

3.2 �
���� ���	���8�9����
��� (b)

��������

H0 : β = 0

H1 : β ≠ 0

�����	
���

t =
ib

i
S
b

����� df = (N-k-1) 
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3.3 ����
�����������./*�.��� �(�������� 
��������
����#�
�������� �(���.������������&�60

�/��(2�� � ���	���8�9����������&�

�����./*�� *� �����./*���#���&� ����� D��������
�����# 
��������

H0 : 2
k...12.Y

2
k...12.Y 21

RR − = 0

H1 : 2
k...12.Y

2
k...12.Y 21

RR − ≠ 0

�����	
���

F =
)1kN/(R1(

kk/)RR(

1)2
k...12.Y

21
2

k...12.Y
2

k...12.Y

1

21

−−−

−−

����� df = k1 - k2 (2	 (N-k1-1) 

4. ��!"���	���#$��%��&'� 

��8&���� 
�2���� �(���.�������������
������������������� �(����")��
��'��0
�&��8&���

� 
�2���� �(��
 ��&*

4.1 �����	
��
�������	����	 (Forward Selection)

��8&����&*+	��������2���� �(���������&��&�
� �� �8�� �� �(������'��&��0
�.��������#�� 

�#��� �(���&��
2��+	�&��������"
��
� �� �8�(��(���#�� (partial correlation) E
�����

����� �� �8��5��	� �(���&��
2��� �� *�� �� �(�����E
�.+ 
���8��2.��� �(������ % ��� ���� �

(���
�&����� �� �8�� ��'���#���&� ����� D���������,+	����.��������#��� +	���(���&*+���	� �� 
�
� �� �8�(��(���#���	
�#��� �(������	�&���#�
�����.�������(�#2	� �� �� �(������&

����� �� �8�� ���#����#�&� ����� D�������� �,+	
�0
���� 
�2���(2	�
�������&��&� ���	���8�9���

�������'��0


4.2 �����	
��
������������ (Backward Selection)

��8&����&*����������� �(��������� *�
�
�.������� +��� *��,+	�#�� % .+ 
� �(��������

����&2	� � E
�+	
��
� �� �8��	
�#��� �(���������&���'#�������(�#2	� �� �� �(����������.+ 


� �(������������ % ���(2�� 
���
����#��
� �� �8�(2�����#���#�&� ����� D�������� �,+	.+ 
���

+������� (2��
����������
���� �(���&��
2����'#��������#��� +���	� ���
� �� �8��	
�#��� �

(��������(�#2	� �� �� �(����������.+ 
� �(������	���� % ���(2�����#��&� ����� D�������� �,+	


�0
���� 
�2��� (2	�
����������
����&��&� ���	���8�9����������'��0


4.3 �	
�����
�������	��� �!� (Stepwise Selection)

���� 
�2���(���&*�������F��F����	
�#����8&���� 
�2���� �(��������� *������8&�&��2#��

��(2���.��
���� � ��. *�(��+	�2���� �(���������&��&�
� �� �8�� �� �(������'��&��0
�.��������#�� 

+��� *��,+	�
���� �(���&���#�
���'#��������#�+	�&� �������� ��
�����&���8�9�.������'#�������
���

��8&���� 
�2���(������
��� (Forward Selection) (2	."	�
&��� ��,+	�
���� �(���&���'#�������


����#�� �(���������&���'#�������� �(���
�&E�����&�+	�'�.+ 
���+�������
�����8&���� 
�2��� 
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(�����
2 � (Backward Selection) E
�+	��	������� 
�2���F��� *������8&�&*���0�. *����+� 
��	� *���#�&� �(���
�&��'�� 
���+������� (2	��#�&� �(���
�&�+	�'�����.������� ��	�������,+	

�0��(2	�
�������
����&��&� ���	���8�9����������'��0


�
������ 9.1

������
� Y �����+�����#�E����&�� X1 ������� ���������&�� X2 �����0�2��H�����

(�
���� X3 ��������� �������� +�������	
�����
���+��.���'2�#����&*

ID Y X1 X2 X3

1

2

3

4

5

6

7

8

9

10 
11 
12 
13 
14 
15 
16 

2

1

3

2

5

4

8

7

8

8

4

3

8

6

9

10 

2

2

3

2

3

4

6

5

7

6

5

3

7

6

9

9

5

4

6

3

5

4

6

5

4

6

3

5

9

8

8

6

3

2

4

5

5

6

3

4

7

6

8

10 
5

4

7

5

17 
18 
19 
20 

6

7

9

10 

10 
10 
4

6

5

5

7

9

7

8

9

7

2��
 �.���'2�
�
 ��&*

Y (���+�����#�E����&�� 
X1 (����� ���������&�� 
X2 (���0�2��H�����(�
���� 
X3 (������� �������� 
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�6����'  Analyze$ ���'���  Regression$ (2	���'�#��  Linear... +	����!
����#�� 
 Linear Regression$

H����	��� 9.1 

�2���� �(������	��#6#��  Independent(s):$ (2	� �(�������#6#��  Dependent:$ (2	
�2�����8&���� 
�2���� �(�� (Method) �&��8&�
��2���
 ��&*

- Stepwise 
 - Backward 
 - Forward 
 - Enter ���� �(������	�.�������� *�
�
 

- Remove ���� �(������	���+�������� *�
�
 
�0K�  Statistics...$ �&���'#
���2#�� ���
� ��2����
�E��(���(�
��#�������#�� % ����&�������� 

H����	��� 9.2 
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�#���0K�  plot...$ ��������2����
�E��(���(�
����L����
���(���#�� % ����&�������� 

H����	��� 9.3 

�0K�  Save...$ ���
� �� ��/��#�������#�� % �&��������2�(LM�.���'2 

H����	��� 9.4 

�0K�  Option...$ ���
� �� *��#���")����������.��� �(��������
���.+ 
� �(�������� E
�

��+�2���� *��
�� *������#�+	����.�� F (2	�#� F
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H����	��� 9.5 

������2������
�
�#�������#�� % �&��������(2�� �
��2��  OK$ E��(���+	��	��2F2(2	
(�
�F22 �8���
����#�� Output 
 F2���������	
�.���'2 �
��#��#�� % 
 ��&*

1. correlation (�
�������N�.��� ���	���8�9�
� �� �8� 
2. Multiple R (�
��#��&�(�
������ �� �8��	
�#��� �(������	�&�����.�������� �� �

(����� 
3. R Square  (�
��#�� ���	���8�9��������� N/��+	(�
����8��2.��� �(������	�&��&

�#�� �(����� 
4. Adjusted R Square (�
��#� R Square �&��&����� �(���
��
��	�� �����.���'2�&��6��&

+���������(2	� �(������	�&+�������� 
5. Standard Error (�
��#������2�
��2����.����������"�� �(�����
���� �(��

����	 
6. (�
������������	
�����(������ ���
� ��6�������
����#�+	�������6�� �(��

����	�&�� 
�2����.��������&*�������"�� �(������
�
�����# ����&� ����� D����6������"��
� 
7. B (�
��#�� ���	���8�9����
���.��� �(������	(�#2	� �(�������� *��#����&�

�����������6���������������������"� 
8. SE B (�
��#���	��"�����2�
��2��������O��.��� ���	���8�9����
���

���
� �(�#2	� �(�� 
9. Beta  (�
��#�� ���	���8�9����
�����(���	(������O�� ���
� ������

����������"����'�.���	(������O�� +���#� Beta ����������
��#�� �(������	�
��&F2
��� 



����6� SPSS ��������������	
�.���'2132

���8��2�#�� �(��������
���������#�� � ��� Beta .��� �(������	�
�&�#���� (��#��
�������
���)

(�
��#�� �(������	� *�+	�&���8��2�#�� �(�������� 
10. T (2	 Sig T (�
��#������(2	�#������#�+	����.������
��� T ���
� ��
���

�#�� �(������	� ��
���������6���������
����� ����#� T �'���#���&� ����� D(�
��#�������������6�

��������
� 

� �(�� X1 �&����� �� �8�� �� �(������'��0
+/�����.������� (2	�&����
��� F-test 
���
� �� �(���&��
2��+	�&��������"
��#� t ����!�#�� �(�� X2 �&�#� t �'���#���&� ����� D�������� 
+/����� �(�� X2 �.������� � �(���&��
2�� X3 �#� t ��#�&� ����� D�������� 
 �� *�� �(���&��������6�
������� �(����� Y �
���� X1 (2	 X2 �����������������
�
 ��&*

Y′ = .605774X1 + .695791X2 - 1.232687 
��� 
Z′ = .562266ZX1 + .439151ZX2

5. ���	���#$��%��&'��)����!" Blockwise Selection 

������ 
�2���� �(��(�� Blockwise � *� +	����� 
�2���� �(���&��'�+ 
������� Block 

����20#�
���60
.��� �(�������"� (2	� 
�2���� �(�������"�+��(�#2	 block 
�����8& Forward, 
Backward 
��� Stepwise 
 �����+ 
� �(��������� block � *���+��< �
2 ��P=Q&���+��������.��6#�� �6#� �&� �(��

��'# 10 � �(���'�+ 
������� block �
� 3 block ��� 1) �20#�� �(�������� 
��������&��� 
�� 4 

� �(�� 2) �20#�� �(���������+
����+�����#���6���&��� 
�� 3 � �(�� (2	 3) � �(����&���� � 
E����&��� 
�
� 3 � �(�� �����+ 
��������20#�� �(��(2�������������	
�
��� Blockwise E
���(�#2	 
block +	�'�� 
�2���
�����8& Stepwise ��."	�&�E��(���������	
� block (�� +	��#���+� �(���&���'#

�� block ���� E��(���+	� 
�2����� block (���#��
�����8&���� 
�2���� �(��(�� Stepwise �����

��*��0
���������	
�+���#�&� �(���
�� block (���.�������(2�� E��(����,
 ������+� �(���� 
block �&�����#��� (2	� 
�2���� �(���� block �&����+���#�&� �(���
�.������� E��(����,
 ���
���+� �(���� block �&�����#��� (2	� 
�2���� �(���� block �&����+���#�&� �(���
�.������� 
E��(����,+	��*��0
��������" 

�
������ 9.2

� �(�������"����������� 
��������&�� 10 � �(���'�+ 
������� 3 block ��� 
Block �&� 1 �����20#�� �(�������� 
���� ��2. � 

���(���
��� 4 5� �

Block �&� 2 �����20#�� �(�������� 
���H�=� � 

���(���
��� 3 5� �

Block �&� 3 �����20#�� �(�������� 
����
�0F2 � 

���(���
��� 3 5� �

� �(����")����F2�����&�� (GPA) 
 .���'2�&���,���������(�#2	� �(���&
 ��&*
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���&� GPA M1 M2 M3 M4 V1 V2 V3 R1 R2 R3 
1

2

3

4

5

6

7

8

9

10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 

3.20 
4.00 
3.00 
2.60 
3.70 
4.00 
4.00 
2.70 
3.60 
4.00 
2.70 
2.90 
2.50 
3.00 
3.30 
3.20 
4.00 
3.00 
2.60 
3.70 

625 
680 
580 
553 
658 
690 
700 
580 
643 
690 
570 
580 
530 
600 
630 
635 
676 
593 
574 
655 

540 
680 
480 
520 
490 
535 
720 
500 
575 
690 
545 
515 
520 
710 
610 
540 
680 
480 
520 
490 

36 
49 
47 
36 
26 
29 
32 
29 
37 
41 
26 
30 
27 
32 
34 
30 
41 
30 
27 
36 

65 
75 
65 
55 
75 
65 
75 
75 
65 
75 
55 
55 
55 
65 
85 
65 
75 
65 
55 
75 

120 
130 
120 
140 
150 
180 
200 
120 
130 
170 
180 
200 
100 
110 
180 
190 
100 
140 
160 
130 

30 
43 
32 
29 
39 
41 
39 
24 
35 
43 
30 
27 
26 
32 
36 
34 
38 
32 
27 
36 

29 
42 
33 
30 
40 
40 
40 
25 
36 
42 
29 
28 
27 
30 
37 
35 
39 
30 
30 
34 

388 
350 
295 
312 
294 
418 
405 
275 
370 
330 
260 
280 
275 
350 
385 
390 
348 
285 
300 
301 

325 
398 
296 
265 
368 
413 
410 
289 
342 
386 
290 
287 
265 
298 
326 
321 
403 
310 
281 
374 

55 
60 
52 
49 
58 
62 
69 
51 
57 
59 
50 
52 
50 
55 
56 
57 
59 
52 
49 
58 


���������������	
�.���'2
���E��(��� SPSS �&��8&���
 ��&*
�2������' Analyze ���'��� Regression (2	���'�#�� Linear< +	����!
����#��  Linear 

Regression$ �2���2���� �(����")� GPA ��6#��  Dependent:$ (2	�2���� �(�������"��&2	 block 
��#��6#��  Independent(s):$ ���&��&*�2���� �(���� block (���#������ �(�� M1, M2, M3 (2	 M4 

��#��6#��  Independent(s):$ (2	�� Block (���&*+	� 
�2���
�����8& Stepwise 
 �� *���6#�� 
 Method:$ �
��2���2�������  Setpwise$ +	�
�
 �H����	��� 9.6 
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H����	��� 9.6 

+��� *��2���&��0K� �������,�������� Block �&� 1 +��� *��2��� Block �&������� V1, 
V2 (2	 V3 �.���������6#��  Independent(s):$ (2	�2���2���  Method:$ ����  Setpwise$ +	�
�
 �
H����	��� 9.7 

H����	��� 9.7 

� ���� Block 2 of 2 � *�+	����� ��2.+����� Block �&���#�.���� � ������ �(�� V1, V2 (2	 
V3 �&���#�.����+	���� Block �&� 2 +��� *��2���0K� � �(��� *� 3 � �+	�'�+ 
��,��������

Block �&� 2 +��� *���#� �(���� Block �&� 3 ��� R1, R2 (2	 R3 ��6#��  Independent(s):$ (2	�2���
��8&� 
�2���� �(���� Block �&� 3 �&*����  Stepwise$ 
 �H����	��� 9.8 
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H����	��� 9.8 

+��� *��2���2��������"�#�������#�� % 
����0K�
���2#������������ �������&�������
��2��

�0K�  OK$ E��(���+	��������	��2F2 

Variables Entered/Removed 
Model Variables Entered Variables Removed Method 

1 M1 . Stepwise (Criteria: Probability-of-F-
to-enter <= .050, Probability-of-F-
to-remove >= .100). 

2 M3 . Stepwise (Criteria: Probability-of-F-
to-enter <= .050, Probability-of-F-
to-remove >= .100). 

3 R2 . Stepwise (Criteria: Probability-of-F-
to-enter <= .050, Probability-of-F-
to-remove >= .100). 

Model Summary 
Model R R Square Adjusted R Square Std. Error of the Estimate

1 .978 .956 .954 .1170
2 .983 .967 .963 .1045
3 .992 .984 .981 7.542E-02

ANOVA 
Model Sum of Squares df Mean Square F Sig.

1 Regression 5.399 1 5.399 394.655 .000
Residual .246 18 1.368E-02

Total 5.646 19
2 Regression 5.460 2 2.730 249.821 .000

Residual .186 17 1.093E-02
Total 5.646 19

3 Regression 5.554 3 1.851 325.461 .000
Residual 9.102E-02 16 5.689E-03

Total 5.646 19
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Coefficients 
 Unstandardized 

Coefficients
Standardized 

Coefficients
t Sig.

Model B Std. Error Beta
1 (Constant) -3.210 .328 -9.787 .000

M1 1.044E-02 .001 .978 19.866 .000
2 (Constant) -3.257 .294 -11.086 .000

M1 1.003E-02 .001 .939 19.981 .000
M3 9.045E-03 .004 .111 2.353 .031

3 (Constant) -1.675 .442 -3.789 .002
M1 4.345E-03 .001 .407 3.021 .008
M3 8.346E-03 .003 .102 3.003 .008
R2 5.942E-03 .001 .551 4.081 .001

Excluded Variables 
 Beta In t Sig. Partial 

Correlation
Collinearity 

Statistics
Model Tolerance

1 M2 -.005 -.081 .936 -.020 .692
M3 .111 2.353 .031 .496 .876
M4 -.009 -.125 .902 -.030 .516
V1 -.104 -2.259 .037 -.480 .939
V2 .259 2.492 .023 .517 .174
V3 .198 1.951 .068 .428 .203
R1 -.104 -1.639 .120 -.369 .550
R2 .576 3.523 .003 .650 5.558E-02
R3 -.004 -.029 .978 -.007 .143

2 M2 -.036 -.651 .524 -.161 .654
M4 -.035 -.551 .589 -.137 .500
V1 -.069 -1.372 .189 -.324 .734
V2 .196 1.860 .081 .422 .153
V3 .143 1.435 .171 .338 .185
R1 -.100 -1.791 .092 -.409 .549
R2 .551 4.081 .001 .714 5.536E-02
R3 .058 .472 .644 .117 .136

3 M2 -.012 -.304 .765 -.078 .640
M4 -.011 -.225 .825 -.058 .491
V1 -.016 -.385 .706 -.099 .637
V2 .131 1.655 .119 .393 .146
V3 .105 1.457 .166 .352 .181
R1 -.038 -.801 .436 -.202 .466
R3 -.001 -.008 .994 -.002 .132

F2���������	
� E��(���+	� 
�2���� �(���&2	 Block E
������+�� Block (���#�� �& 4 

� �(�� � �(�� M1 �&����� �� �8�� �� �(�� GPA �'��0
+	�'�����.������������ �(�� � �(���&�

�
2���&� 9 � �+	��+��"��#� Beta In �&��&� ����� D�'��0
+	�'�����.������������ �(��� 
�� ���&��&*� �

(���&��#� Beta In �&� ����� D�'��0
���� �(�� R2 (�#E��(�����#���++	���+�5��	�� Block �&� 1 

��#�� *����&��&*� �(���� Block �&� 1 �&��&� ����� D�'��0
��� M3 �,+	�'�����.�������������� �(��� 
�� 

+��� *�� �(���&��
2���&� 8 � �E��(����,+	��+��"�� �(���� Block �&� 1 �&��#� Beta In �&� ����� D

�'��0
 ���&��&*� �(���� Block �&� 1 ��#�&� ��
�2��&��&� ����� D E��(����,+	��+��"�� �(���� Block 
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�&� 2 � 
�� ����!�#�� �(���� Block �&� 2 ��#�&� �(���
�2��&� Beta In �&� ����� D E��(����,+	

��+��"�� �(���� Block �&� 3 � 
�� ����!� �(�� R2 �&� ����� D+/�����.������������ �(���&� 3 
� �(���&��
2���&� 7 � �E��(���+	���+�5��	 Block �&� 3 ����!�#�� �(���&��
2���� Block �&� 3 ��#

�&� �(���
�2��&� Beta In �&� ����� D E��(����,+	
�0
��������" 
F2�0
�����&� �(���&������������"�� �(����")� GPA �
���'# 3 � ���� M1, M3 (2	 R2 

������������� �(����")� GPA �
� 98.4% 
 


